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General Instructions :

(i)  All questions are compulsory.

(ii) Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

(iii) Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

(iv) Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

(v)  Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.

1. YRA-&F T i 6 ueh fafere foeivdr &1 oo Sty |

State any one special feature of Indo-Russian friendship.

2. Tr=fefad & & o Q1 ST §RT STehars & foeg 38 dfvess g5 o1 fewar ot 2

(a) ST TSI &M

(b) FHFIX AR

(c) TR USAMTT ThieH

(d) dfifean™ ar

Which one of the following was a part of its global war on terrorism by the U.S. ?
(a) ‘Operation Desert Storm’

(b) Computer War

(c) ‘Operation Enduring Freedom’

(d) Videogame War
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ot Tk 3ETETOT g I% S9N o fave o R U 9T ° B ot ' 6 g9E fova &

TRt o= amT § off ST ST el € | 1
Give any one example to show that events taking place in one part of the world could
have an impact on another part of the world.

IR H U e S aTel Foil o TERERT o W@ Y2 1
What has been the ideology of left parties in India ?

STgled S, SFgiad SHSTiaar aar 3w fUse ot & SIfaier STeTor & 7T g g

T 3Faa € 2 1
How far is the demand for reservation beyond SCs, STs and OBCs justified ?

1960 % <9 H, ST FERIeal 3 8RERT o 8le 9 FEH0 99U W@H % fou, % 9§
A T EETEN (6T 2 2x1=2
Starting in the 1960s, the two super powers signed which two significant agreements

to control arms ?

AT S o IR AR TRATAT FRT Thrd T W= % & F 3@ T, I TH e

T 3NMHET I ! Gid =T % Jvad g8 | 2x1=2

Assess the commonly agreed upon two goals visualized by the Indians during the

national movement which have been fulfilled after independence.

T () T T T o g (37 § R T et & A % 6 9 A e | 4x Vs =2

(a)

(b)
(©)
(d)

(30
AT TG I

T, T TG

16 TSR
ST T

()
() YR GrEER! S (TR aTaT)
T GEIH

(i) .UH.%F. B GIH
(iii) 1952 | 1986 H Tg T ST WiAS T |

(iv) & SaE-5F [HEE B Uig AR o
Elcl]
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Match the following leaders in List — A with the suitable statements in List — B :
List— A List- B
(a) Lal Bahadur Shastri (i) Founder of Communist Party of India
(Marxist-Leninst).

(b) C.Natarajan Annadurai (ii) Founder of D.M.K.

(¢) Charu Majumdar (ii) A Member of Parliament from 1952 till his
death in 1986.

(d) Jagjiwan Ram (iv) Coined the famous slogan ‘Jai Jawan — Jai
Kisan’.

9. 3%k foraR H, T SFIYY Wied AT FETcHeRT hi Gg M hi (G2 H Teh ek T 372
T 3TN (R g o U7 | 2 2

In your opinion, was Anandpur Sahib Resolution a plea for strengthening federalism
or a plea for separate Sikh nation ?

10. &5 STenietTen @ Fdes ot 5o | SArshditieh sTeiid o adiehl i e 1 ke Hivte | 2

Assess the role of democratic negotiations in responding to regional aspirations.

11.  oTfaam 37T TYETa o IR Y& 32941 I aui HifT | 4x1=4

Describe the four major objectives of ASEAN Economic Community.

12. URURS G Afd & TF a7 % 9§ TG a9 F F1 AWE § 2 789 e ared A
liglicell 2+2=4

What is meant by alliance building as a component of traditional security policy ?

State its advantages.

13. YR o STl 9T A9elehiul & fohal T FehRIcHeh TNUTHT hi SSTY Shifstd | 4x1=4

Highlight any four negative consequences of globalization for the people of India.

14. 2IEE & ARG H {90 o folu StRer uRieiadt i T i | 4

Explain the circumstances that led to the accession of Hyderabad to India.
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15. Idd YR H URY 9 AR 379 T TdeM & aiish ol dgeid 1@ € ? HROT 9 WL ST | 4

How did the methods of voting in free India go on changing from time to time till day ?
Explain the reasons also.

16. 1979 H SHAT §IHR & T & [oT0 ITREAT fFel TR HReh o [TeeidoT HitT | 4x1=4
Analyse any four factors responsible for the downfall of the Janata Government in
1979.

17. FAfcfad STador o eHYEs e ST a2l 3H% YR W [T T Jei & IW
fotfa
TIA] I B GIA | ST G BT AT THAH IS TS o S F fosir S € - g% 7
FHEAT A7 ITEG T | IR FIE 379 ¥ T STHHT Fleh STk IRAT] ERRIRT Sl AT i
T BT FAT & T ff T F I W TG B oI §IIAR 9 ST | T & 98l b
U Th-38 & Hhlel SR WER ThTH UgaH i -1 &T9aT aidl € o5 g off 9eT I B
TR el 3SHT Al | 39 e, HeWloadl & g Ted Uagigdl e+ & aeeg Iiags
TR g5 1 ® Tél of T 3T THh! TER 31 Wl | TRENE 300y & fefd 7 I
TN B T, wfeh 98 Fef e TiasfEar S T U el |

(i) eIl & st el Uidgigar ool Siadg & T -t @l 2
(i) ST TRHAT] oAt o s @1 ool IRATY] g {I0Tiaeh it el &t Hehl ?
(ili) 3T’ & b ! T HIT | 2+2+1=5

Read the following passage carefully and answer the questions that follow :

In the event of a nuclear war, both sides will be so badly harmed that it will be
impossible to declare one side or the other as the winner, even if one of them tries to
attack and disable the nuclear weapons of its rival, the other would still be left with
enough nuclear weapons to inflict unacceptable destruction. Both sides have the
capacity to retaliate against an attack and to cause so much destruction that neither
can afford to initiate war. Thus, the cold war — inspite of being an intense form of
rivalry between great powers — remained a ‘cold’ and not hot or shooting war. The
deterrence relationship prevents war but not the rivalry between powers.

(i) Why did intense rivalry between the super powers remain a cold war only ?
(i1)) Why can’t a nuclear war between the two nuclear powers be decisive ?

(i11)) Explain the logic of ‘deterrence’.
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18. I ST 7T STEaROT I AFYSH ST HINIT T 3T T MR UeAT o IR AT

ghefoT URTN § e 1 Repre TET-S[en /T & | 38k aTeS[g SrT0T UREE S St ST
TR T ST T TewTH & | 36 &7 % Ut o S § &1t & § Uk FAe0r fohar e
o | T § IE AT e g5 foh o Ural I | oliehas ol SAe SH-9HA 81iael & 1 3
9T Y o 3T 49 o 3T AN — e i 3TST AT & 31 WTATTeHeTeh olishs i
Tt B GHU HA € | T I b AT WA i SRt 3T UUTett St 3TeT oAk i
AT 3 € 3R A € o6 S 391 o foIw rebes & 3 & | 3 FIshd 5% Aot § it
TEel § WHT ST @ € o b fa foea o gt 39 H WoA-%el Tohell € | 39 fofers § 3F
1 3feToT TR o AR % Al & Al i Af¥esh HodHT S STERT el § |

oo [a¥a

(i)  WTAFTeeT Tishds i TAIHITIar T SThet HiTT |

(i) SfeToT UM & Ut S S0 W ArRdd H SANS HAT el & HRUT S faeloT
HITT |

(iii) 27T 39 U T Hal TP TeHd ¢ [ e halel {99 & 91 S | & Hel-FoT Feball
g9 1+2+2=5

Read the passage given below carefully and answer the questions that follow :

Despite the mixed record of the democratic experience, the people in all these
countries of South Asia share the aspiration for democracy. A recent survey of the
attitudes of the people in the five big countries of the region showed that there is
widespread support for democracy in all these countries. Ordinary citizens, rich as
well as poor and belonging to different religions, view the idea of democracy
positively and support the institutions of representative democracy. They prefer
democracy over any other form of government and think that democracy is suitable
for their country. These are significant findings, for it was earlier believed that

democracy could flourish and find support only in prosperous countries of the world.
(i)  Assess the popularity of representative democracy.

(i) Analyse the reasons for the widespread support for democracy in the five big

countries of South Asia.

(iii) How far do you agree with the statement that democracy can flourish and find

support only in prosperous countries ?

59/1/1 6



o oo

19. TTAfeiEd STadRor i e gde UfeT a2 3§ 9T TR FeA & IR I -

AR o Taed [ GRAL-IEI A1 e HRaTe el aidl | T8k T (ohal Toear 9
Tifed AT o1 dR-4 Tehsle BT 3 GHM 7T o W1 Teh-Fl BT 33T STE € | 39
ATae, SIS T Ueh SBTH AT ol 30 SARIHRI I AR SIS ST T € aMfeh A I8
TOE T oAlohe B LS ¥ o F-T SHE B T © | URA P ISR SR Fgel
Tl @ SFaT B SR S % 39 W H Gl & | UH 37 STRIeHT = elishas b1 ol Tel
TEATT Sfesh ST R R € |
(i) TSI o URUTHEEY TR i et ol T 1R T 3oeid HiT |
(i) 37T el T Teud ¢ b QIISTh STRIGHT = olicha s i STeT &l gl sfesh ST

T frar & 2
(iii) ATRCT St TS TAT SR o e T ey § 2 1+2+2=5

Read the passage given below carefully and answer the questions that follow :

Movements are not only about collective assertions or only about rallies and protests.
They involve a gradual process of coming together of people with similar problems,
similar demands and similar expectations. But then movements are also about making
people aware of their rights and the expectations that they can have from democratic
institutions. Social movements in India have been involved in these educative tasks
for a long time and have thus contributed to expansion of democracy rather than
causing disruptions.

(i) Mention any one right granted to the people of India as a result of any movement.
(ii) How far do you agree that social movements have contributed to the expansion

of democracy rather than causing disruptions ?
(111) What is the relationship between the movements and the democratic institutions ?

20. IE FHA THATEH Sl AT 3T TRl & Wb & 0 Fae T fooqoft FHwar § |

Saeaia

I TG T A T A ST AT T FAfeAEd i & 3o AT
(i) A H I AR W a1 Pl TgaI-T SR 3T A @y |
(i) & I TS a7 O H fohg T o Welell <l SO0 € 2
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(iii) TTATST =l ST Hl & HH & [T TE A T AT gRT TR AT G, 3TIh]
T H, el e HA TET 2 1+2+2=5

Study the following cartoon carefully and answer the questions that follow :

——
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This cartoon comments on the relation between ]
the people and the rulers in the Princely States.

(i) Identify and name the leader shown on the right in the cartoon.

(ii) What type of relationship does the cartoon indicate between the people and the
ruler ?

(i11)) In your opinion, how successful was the approach adopted by the leader on the
right to solve the issue of Princely States ?

e T=fafed wem Fae ghearfaa wientéar & o ue 9@ 20 & ©H W
T fST T AT % ST i
20.1. STOTERCATA &% i Ygell HRAREE H SU-TLHH i o 2
20.2. WeAUd W R FRXA § o, AR % TeRST H 9RT 9WER §RT -7
JTTYETH T 74T o1 2
20.3. TERE H USTH O f6q Ol 3 o & foeg eI SeE R AT 2 1+2+2=5

Note : The following question is for visually impaired candidates only in lieu of
Q. No. 20:

Answer the following questions :

20.1  Name the Deputy Prime Minister in the first Council of Ministers under
Jawaharlal Nehru.

20.2 Before signing the Instrument of Accession with the Indian
Government, what assurance was given to the Maharaja of Manipur ?

20.3  Which section of the people in Hyderabad rose against the Nizam and
why ?
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WORLD
Political

Scale 1:179m (Approx)
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(i1)
(iii)
(iv)
(v)

TART 1 T8 AR 1 50 G&AT | Haid ew AT BT AN

(1

(i1)

(iii)

@iv)

v)

o€ ST ST S 1992 H geat THei gat o |

T 213 T T W SeasTeha J97 |

rey-foRTelt, TR AT TR o [T ST S AT 397 |

FITS-TISIHTC ! areaaral ¥ Far W@l T 39 |

faver § WSt et o TR R 1 Fad I8l 3AEH 90 |
9

5x1=5
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) WORLD
¢ Political

Scale 1:179m (Approx)

TR, : { i . i i ~-a/--f'§',1~»i{ i ]

In the given political outline map of the world, five countries have been marked as
@, , @, @ and @ Identify these countries on the basis of information given
below and write their correct names in your answer book along with their respective

serial number of the information used and the concerned alphabets as per the
following format :

Serial No. of the information Alphabet Name of the
used concerned Country

(1)
(i1)
(iii)
(iv)
(v)

(i)  The country where ‘Earth Summit’ was held in June 1992.

(i1)) A leading contributor to green house gas emissions.
(iii)) A country known for its anti-dam pro-river movements.
(iv) A country exempted from the requirement of the Kyoto Protocol.

(v)  The second largest producer of crude oil in the world.
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A =faiad w7 waer ghearfaa et & forw e 9@ 21 F =H W E |

21.1. 39 <90 T A FAT@Y ST 1987 H Hifaer TH W g&eR T 7T |

21.2. 39 3 H AW faRau S@T 1997 | ‘SISt Wieihiel’ T Geard o |

21.3. “TEi & IS o 07 0 T SRR faetad 39 @ € 17 I gitesnioT
T [ U H 2

21.4 ST 3TERIHT H1 I T < 30 T-3EeA o AT ST ST € 2

21.5 <RI0T I % SE I I Sooid HINT ST &l % e T F 3 o
TARE | 5x1=5

Note : The following question is for the Visually Impaired candidates only, in lieu of
Q.No. 21:

Answer the following questions :
21.1 Name the country where ‘Montreal Protocol’ was signed in 1987.
21.2  Name the country where ‘Kyoto Protocol’ was agreed upon in 1997.

21.3  Which country mainly advocated the view that the major responsibility
of curbing gas emissions rests with the developed countries ?

21.4  Which country from North America is known for its forest movements ?

21.5 Mention the South American country which is facing enormous
pressure due to deforestation.

22. viagE H B Te-fRUs STEie W R A fRY UeR Hewqul gt fE o s

FHIT | 6
AT

ferea oA ER TFIY 3T HallTersh SIfeRTemett <91, Wioad ¥ =i forafed gam 2 &iE S HROT T

HIT | 6x1=6

How did India play a crucial role in the Non-aligned Movement during the Cold War
period ? Explain.
OR

Why did the Soviet Union, the second most powerful country in the world,
disintegrate ? Explain any six reasons.

23. 3T Sl HISET AT ® g ST Tgl-ael 9= W & 1 R i Suge el 51T 59

FHUF T AEHTT (G5 BT | 3x2=6
reran

U Tl i U@ BRI T [ITeIIUT HITT ST JRATTT T i Teh 3T T T ISTHIaeh 99

T & T STREEl € | 3x2=6

“The bedrock of contemporary U.S. power lies in the overwhelming superiority of its
military power.” Justify the statement with any three suitable arguments.

OR

Analyse any three major factors responsible for evolving the European Union from an
economic union to a political one.
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24, U¥ T A gAY Afvae qRT T U HiTT = T 97 51T Afesh ©9 & H 6w
foT &t 8t fepa ST wepaT | 3x2=6
AT
ST T ST YT Sl UK GO & -7 31w & 2 3+3=6
Describe any three challenging global issues that can only be dealt with when
everyone works together.
OR
What is meant by traditional notion of internal and external security ?

25. 1962 % T¥ETT YRA-9M TaEl W T W&l [aeerdur SIS | 6
cC)
IR 30T faeer ifd =t wifagol & ¥ ] A a9 AT Tl ¥ o9 WA H Fel I
el TET 7SI S WL HIfST | 6
Analyse the impact on Sino-Indian relations since 1962 onwards.
OR
How far has India been successful in conducting its foreign policy peacefully and
avoiding international conflicts ? Explain with the help of examples.

26. ARA H W TER TAT AU o & TEY I ST 37 ATl HATHAT 1 TR0 ST | 6
SC])
1969 H Ut o oIS o U¥ETd, HIUT YOGl ot JARTAT % iU STRer uRiefaar &
fareetoT ST | 6
Examine the developments that gave rise to the conflict between the Union
Government and the Judiciary in India.
OR

Analyse the circumstances that led to the restoration of Congress System after the
Party’s split in 1969.

27. ST AR FHHAR H ToHIT i RO GaRRTs s o [T STRamE! ST a0 SAidieh o

o 343=6
YT

TSl TME B Geg & U9EId, TR B TSI W GEMH T Bied oot el 9 e

IEEATET T FJUH T | 3x2=6

Describe the external and internal disputes responsible for making the politics of
Jammu and Kashmir continuously controversial.

OR
Describe any three major developments that left a long lasting impact on the politics
of India after the death of Rajiv Gandhi.
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